Real-World
Word Problem

Worksheet for 6s and 7s

. A classroom has 6 rows of chairs, with 7 chairs in each row. How many chairs are there in
total?

Answer :

. A teacher buys 7 packs of markers. Each pack contains 2 markers. How many markers does she
have in total?

Answer :

. A bakery packs 6 donuts in each box. If they prepare 8 boxes, how many donuts are there?

Answer :

. A gardener plants 7 rows of trees, with 7 trees in each row. How many trees are there?

Answer :

. A store orders 6 cases of water, with 6 bottles in each case. How many bottles does the store
receive?

Answer :
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